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Exercice 1

Cocher les bonnes réponses :
40 est divisible : (] par 2 [l par 3 [l par 5 (] par 9 0] par 10
87 est divisible : L] par 2 U par 3 Ll par 5 L] par 9 U par 10
180 est divisible : (] par 2 [l par 3 [l par 5 (] par 9 0] par 10
60 est divisible : L] par 2 U par 3 Ll par 5 L] par 9 U] par 10
750 est divisible : (] par 2 [l par 3 [l par 5 (] par 9 0] par 10

Exercice 2

Cocher les bonnes réponses :
660 est divisible : L] par 2 Ul par 3 Ll par 5 L] par 9 U] par 10
490 est divisible : (] par 2 [l par 3 [l par 5 (] par 9 (] par 10
39 est divisible : L] par 2 U] par 3 Ll par 5 L] par 9 U] par 10
648 est divisible : (] par 2 (] par 3 [l par 5 (] par 9 (] par 10
164 est divisible : L] par 2 Ul par 3 Ll par 5 L] par 9 U] par 10

Exercice 3

Cocher les bonnes réponses :
340 est divisible : L] par 2 Ul par 3 Ll par 5 L] par 9 U] par 10
90 est divisible : (] par 2 [l par 3 [l par 5 (] par 9 0] par 10
540 est divisible : L] par 2 U] par 3 Ll par 5 L] par 9 U] par 10
405 est divisible : L] par 2 U] par 3 L par 5 L] par 9 U] par 10
273 est divisible : (] par 2 [l par 3 [l par 5 (] par 9 (] par 10

Exercice 4

Cocher les bonnes réponses :
387 est divisible : (] par 2 [l par 3 [l par 5 (] par 9 0] par 10
85 est divisible : L] par 2 Ul par 3 Ll par 5 L] par 9 U par 10
76 est divisible : (] par 2 [l par 3 [l par 5 (] par 9 0] par 10
210 est divisible : (] par 2 [l par 3 [l par 5 (] par 9 0] par 10
177 est divisible : L] par 2 Ul par 3 Ll par 5 L] par 9 U] par 10

Exercice 5

Cocher les bonnes réponses :
36 est divisible : L] par 2 U par 3 Ll par 5 L] par 9 U par 10
520 est divisible : (] par 2 [l par 3 [l par 5 (] par 9 0] par 10
340 est divisible : L] par 2 U par 3 Ll par 5 L] par 9 U par 10
576 est divisible : L] par 2 Ul par 3 Ll par 5 L] par 9 U] par 10
132 est divisible : (] par 2 [l par 3 [l par 5 (] par 9 (] par 10

Exercice 6

Cocher les bonnes réponses :
590 est divisible : (] par 2 [l par 3 [l par 5 (] par 9 0] par 10
90 est divisible : L] par 2 Ul par 3 Ll par 5 L] par 9 U par 10
435 est divisible : (] par 2 (] par 3 [l par 5 (] par 9 0] par 10
57 est divisible : (] par 2 [l par 3 [l par 5 (] par 9 0] par 10
360 est divisible : L] par 2 Ul par 3 Ll par 5 L] par 9 U par 10
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